15/12/08:
Word Connection by Serkan Yurekli

Theme: Numbers

Place the words into the grid (one letter per cell) so that they do not touch each other,
not even diagonally, and so that they can be read in a straight line in a vertical or
horizontal direction. Some letters in the words are already given in the grid.

Then find a path that passes through every cell of the grid, starting with the first

letter of the first word, passing through the words in order from their first letters to
their last letters, and ending at the last letter of the last word.

ANSWER ENTRY:

Enter the number of 0O
turns the path takes ONE
between each of the TWO E
V\{OFdS in prder as a THREE
single string of numbers.
(Ignore turns in cells with FOUR O
letters.) The answer for this
example is “224”.
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1 ONE

2 TWO

3 THREE
4 FOUR
5 FIVE
6

7

8

9

1

SIX

SEVEN

EIGHT

NINE
0 TEN




